SHEET 216

Quantity in 1,000tons

Vaule in US$1,000

2002 2003 2004
YEAR
ITEM Q1 Q2 Q3 Q4 total Q1 Q2 Q3 Q4 total Q1 Q2 Q3 Q4 total
Average Production Capacity(Qty)1
Utilization of Capacity®(in %)
Beginning-of-Period Inventory
Production
Shipment:
Home Market :
Commercial shipments Qty
Value
Internal consumption/transfers Qty
Value
Export to :
Taiwan Qty
Value(FOB)
Value(CIF)
Countryl Qty
Value(FOB)
Country2 Qty
Value(FOB)
Other Export Market Qty
Value(FOB)
Total shipment Qty
Value(FOB)

End-of-Period Inventory

Note:

1.Please explain the basis, assumption made and methods used in calculating the practical capacity to produce the Portland Cement and Clinker.
2.Please explain the basis, assumption made and methods used in calculating the utilization of the capacity to produce the Portland Cement and Clinker.
3.Please identify your principal other export markets.

4.Please note that the quantities reported above should reconcile as follows:

beginning-of-period inventories+production-(Home market shipment+Export shipments)
= end-of-period inventories. Do the data reported reconcile?

O Yes
(1 No--Please explain
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SHEET 216

YEAR
ITEM

2005

2006

2007

Q1

Q2

Q3

Q4

total

Q1

Q2

Q3

Q4

total

Q1

Q2

total

Average Production Capacity(Qty)1

Utilization of Capacity®(in %)

Beginning-of-Period Inventory

Production
Shipment:
Home Market :
Commercial shipments Qty
Value
Internal consumption/transfers Qty
Value
Export to :
Taiwan Qty
Value(FOB)
Value(CIF)
Countryl Qty
Value(FOB)
Country2 Qty
Value(FOB)
Other Export Market Qty
Value(FOB)
Total shipment Qty
Value(FOB)

End-of-Period Inventory

Note:

1.Please explain the basis, assumption made and methods used in calculating the practical capacity to produce the Portland Cement and Clinker.
2.Please explain the basis, assumption made and methods used in calculating the utilization of the capacity to produce the Portland Cement and Clinker.
3.Please identify your principal other export markets.
4.Please note that the quantities reported above should reconcile as follows:
beginning-of-period inventories+production-(Home market shipment+Export shipments)
= end-of-period inventories. Do the data reported reconcile?

O Yes
1 No--Please explain
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Quantity in 1,000tons
Vaule in US$1,000



